www.greenlee.com @ GREENLEE.

Master Electrician’s Tool Kit

JU _,:" _I/ y e All-inclusive tool kit designed with the master electrician in mind.
e Kit Includes: 18" Heavy-Duty Multi-pocket Bag, Heavy-Duty
8-Pocket Leather Pouch, 2" Leather Tool Belt, 9" Side-Cutting
0159-11 Pliers, 8" Diagonal Cutting Pliers, 8" Long Nose Pliers,
10" Pump Pliers, Pro Plus Wire Stripper 10-18 AWG, NM Cable
Ripper, Stripping/Crimping Combination Tool, Cable Cutter, Utility
Knife, 12" Hacksaw, Keystone Tip Square Shank
1/4" x 4" Flat Blade Screwdriver, Keystone Tip Square Shank
5/16" x 6" Flat Blade Screwdriver, Cabinet Tip Round Shank
3/16" x 6" Flat Blade Screwdriver, Cabinet Tip Round Shank
1/4" x 6" Flat Blade Screwdriver, Phillips Tip #1 - 3/16" x 3"
Screwdriver, Phillips Tip #2 - 1/4" x 4" Screwdriver, Screw-
holding screwdriver 3/16" x 6", 3" Scratch Awl, 10" Adjustable
Wrench, 9-Piece Folding Hex-Key Set, 25' Tape Measure,
Torpedo Level, 18 oz. Electrician’s Hammer, High dexterity
gloves (L) and GT-11 Voltage tester.

CAT. NO. UPC NO.  DESCRIPTION

/ 0159-11 56349 Master Electrician’s Tool Kit, 28 pc
-
SPECIFICATIONS

Weight 19.7 Ibs. (8.96 ko)

Journeyman’s Tool Kit

e Perfect kit for the journeyman electrician.
JU _,'_,',‘ _I/ y ¢ Kit Includes: 20-Pocket Tool Caddy, GT-11 Voltage tester, Torpedo Level,
18 oz. Electrician’s Hammer, 25' Tape Measure, Keystone Tip Square Shank
1/4" x 4" Flat Blade Screwdriver, Cabinet Tip Round Shank 3/16" x 6" Flat
Blade Screwdriver, Phillips Tip #1 - 3/16" x 3" Screwdriver, Phillips Tip
#2 - 1/4" x 4" Screwdriver, 9" Side-Cutting Pliers, 8" Diagonal Cutting
Pliers, 8" Long Nose Pliers, 10" Pump Pliers, Pro Plus Wire Stripper
10-18 AWG, NM Cable Ripper, Stripping/Crimping Combination Tool
and Cable Cutter.
e See individual product information for specifications.

c€92°15v°008 -xed
98/0°G€v°008 -18L vSN

0159-12

£682'v25°008 xed
98/0°6€v°008 ‘I8l epeueg

CAT. NO. UPC NO. DESCRIPTION
0159-12 56350 Journeyman'’s Tool Kit, 17 pc

SPECIFICATIONS
Weight 9.7 Ibs. (4.41 kg)

)
3
8
E-
8
=
)
=
+
=~
[+
g
o
W
©
N
S
=)

2vc6°L6€°G18° L+ Xed

= REPLACEMENT PART =ACCESSORY





